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There are 64 pages in all in this Question-
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WRa # FrafeiRea & ¥ fo wae &
WA BT e ifwaH & -

(A) g

(B) T

(C) dEd

(D) N

FrfeRea 7 3 B ©Riv & e T8
3.

(A) Bl

(B) TRl &

(C) Hbeir ‘ 9

(D) €T

aﬁquwaﬁ %%mméﬁ’r
ST & -
(A) SIS
(B) esT
(C) =%
(D) 3IeHGEIE

" crop -

) Nuclear Power plants )

C

Which crop among the following has
maximum area of cultivation in

India— £
(A) Wheat T
(B) Sugarcane ., _.
(C) Rice FFET ;
(D) Cotton F7 2

Which of the followigg s pot aharf

L BT
| (A) Maize - -‘1..)
(B) Mustard g
C) Groundnut .
R r. ' B {D)

(D) Bajra

1L (Q)

Which city is. Called 'Silicon Valley'

of India— Q”i‘ 5 By .8
(A) Bengaluru'"*» 513 V. (A)
(B) Noida Dl (a)
(C) Chennai ﬁ (3)

(D) Ahmedabad = (D)

.. Which one of the" f%llowmg’ﬂ'is the
%ergest source of electricity

neration in India =3
) Hydro Power; plants
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C

The first woman to receive the
Bharat Ratna award is -

(A) Mother Teresa
(B) Lata Mangeshkar
(C) Sarojini Naidu
(D) Indira Gandhi

In which of the following state,
general assembly elections were
not held in February/March 2022 -
(A) Uttarakhand

(B) Mizoram

('C) Manipur

(D) Goa

. What is the national mqtto of India—

(A) Satyamev Jayate
(B) Vande Mataram

*(C) Jai Hind
(D) Satyam Shlvam Sundaram

. Where is the Samadhi (Sepulture)
' of Adiguru Shankaracharya situated
~ in Uttarakhand - ‘ ‘

~ (A) Badrinath

(B) Kedarnath

- /(C) Gangotri

(D) Haridwar

. 'Pneumonia’' disease affects which

part of the human body =
(A) Liver

(B) Intestine

(C) Lungs

(D) Heart
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11.

12.

13.

14.

15.

e 8 @ s o & e N
Jnus iy Wk @ ;Mln -

(A) ey i

(8) gehyada

(C) wamier

(D) v @i

e Reen & ol g e § Y
% wae & o o -

(A) aRR & o

(B) 3mBaR & H

(C) SRR & &

(D) WIESTR BT BIeT

freal S sfm o el 9 -
(A) &7 @@
(B) T &IBH

(C) T dmaER
(D) T ez Rig

HRA 31 e 5O gRO B -
(a) Bfw

(8) ¥a

(C) &@

(D) gemER
T3 IFHEIEA I A B9 s @y

[c]

}lstan was a part of India
reign of which of the

11. Af

the last Guru of
da Bahadur :
: Har"kishan

14. Who were the first European to

@C) The Dutch
ﬂb) The Portuguese

ISWRaja Rammohan Roy began to
publish which weekly -
(A) Sambad Kaumudi
(B) The Bengal Gazette
(C) The Hindy Patrika
(D) The Kesari

P.T.0.
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(B) FEHIR
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(A) HIeT (CERTEH)

() dSt

() f=
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(D) R BIET eI §
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16. Which state has the larg

17.

18.

19.

[€]

est ared

under permanent forests —

(A) Uttar Pradesh

(B) Rajasthan

(C) Madhya pradesh
(D) Arunachal Pradesh

Who among the following shifted

the capital of the Empire from Agra
to Delhi -

(A) Akbar

(B) Jahangir

(C) Aurangzeb

(D) Shahjahan

Where in Uttarakhand, was a copy
of Emperor Ashok's Rock Edicts
discovered‘ B

(A) Kalsi (Dehradun)

(B) Pauri

(C) Tehri

(D) Jageshwar (Almora)

The soldiers of Garhwal Regiment
refused to fire on the revolutionaries

in—
(A) Khilafat movement
(B) Non-cooperation movement

(C) Civil Disobedience movement
(D) Quit India movement
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(A) T DI 3Tl

(B) ag &I aT

(C) HH™ B <l
(D) oRET &I T

20.

21.

22

23.

24.

[c]

Which of the following would
indicate an increase in the average

global temperature? '
(A) An expansion of glaciers

around the world.

(B) Arise in sea level. -
(C) Earlier freeze dates for major

lakes.
(D) Both (A) and (B)

Richter scale is used for measuring—

(A) Humidity of air

(B) Velocity of wind

(C) Intensity of earthquake
(D) Density of liquid

In which of the following countries
maximum number of languages are
spoken —

(A) India

(B) Britain

(C) U.S.A.

(D) France

NABARD is related to -

(A) National Agricultural
Development Organization

(B) National Board for Agricultural
and Rural Development

(C) National Bank for Agriculture
and Rural Development

(D) National Bank for Rural
Development

Which of the following pair is not

correctly matched —

(A) Hawa Mahal - Udaipur

(B) Jama Masjid - Delhi

(C) Charminar - Hyderabad

(D) Shershah Suri's Tomb -
Sasaram (Bihar)

P.T.O.
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(A) 25 F Heer gry
(B) 42 9 Heher gry
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(D) 52 d Heler gy
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(A) 3rJeug - 44
(B) 3% - 46
(C) 31T - 48
(D) 3T - 17

&% WROR & Jdred Fafde Ja aar
3

(A) 3 F+Rel

(B) T W

(C) WITHAY &I T g

(D) Sfe~c afaa
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(A) 29HEM

(B) 3TWEM

(C) 4TEM

(D) 6 WEH
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(A) 86 df FENE
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(D) 89l e

pu22

25.

26.

27

28.

29.

[C]

i i rted
The word 'secularism’' was inse

in the preamble of the Indian

Constitution by—

(A) 25t Amendment
(B) 42 Amendment
(C) 44t Amendment

(D) 52" Amendment

Which of the following article of the
constitution of India is related to the
Uniform Civil Code?

(A) Article - 44

(B) Article - 46

(C) Article - 48

(D) Article - 17

The highest civil servant of the
Union Government is — -

(A) Attorney General

(B) Home Secretary

(C) Principal Secretary to P.M.
(D) Cabinet Secretary

What can be the maximum interval

between two sessions of
Parliament?

(A) 2 months

(B) 3 months

(C) 4 months

(D) 6 months

Which  amendment to the
constitution inserted a new Article
21 A providing Right to Education?
(A) 86t Amendment
(B) 87% Amendment
(C) 8gw Amendment
(D) 89 Amendment
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r=feReg & & & a1 AFa fae

YEHIB (HDI) BT U el & -
(A) Wi &b 3T

(B) S & THY Sia- Hearen
(C) T&He AP &X

(D) <& 3R ot

TEROIT BT PR & -

(A) w1 B 3 A g

(B) TRHR P U APl # s
(c) e B et A A

(D) e ot gt A &

Sy 3 2 et S 1 AR et
g SR & -

(A) &rHose

(B) HEZHUSTI

(C) FHAIHUSCT

(D) dfeHvsH
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30.

Sl <

32.

33.

[c]

Organic food is supposed to be

better for human health as :
(A) Itis raised on special chemicals.

(B) Itis grown without the us€ of
artificial fertilizers and
pesticides.

(C) Itis more expensive.

(D) None of the above

Which one of the following is not a
constituent of Human Development
Index (HDI) —

(A) Per Capita Income

(B) Life Expectancy at Birth

(C) Gross Enrolment Rate

(D) Health and Nutrition

Inflation is caused by —
(A)
(B)

Increase in supply of goods
Increase in cash with the
Government

(©)
(D)

Decrease in money supply

Increase in money supply

The maximum concentration of

ozone is found in which of the
following -

(A) Troposphere
(B) Mesosphere
(C) Stratosphere
(D) Exosphere

P.T.O.
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(A) T &7 e
(B) T fewmera
(C) ulerfr o
(D) W WRq

R B FeRY o1t sieRfsdar v R
WS WYY -

(A) @9
(B) =urd
(C) sharRer
(D) uifda=

Fr=iciRaa 3 < Bl archia asf a1 v
PROT & -

(A) 3RS

(B) FTSgIsH SIE3iia™Tss

(C) Pl STE3HTNES

(D) T AFBITaES

T €99 & wfoues & -
(A) &1 IFed

(B) giaRTad

(C) Rfawiax

(D) eiSHeT

Pl 91 297 ‘ug=T $T I BECTT & -
(A) d

(B) SHHIH

(C) ¥Rd

(D) S

34.

35.

36.

37.

38.

C

The most biodiversity rich area in

India is —

(A) Gangetic Plain
(B) Trans Himalayas
(C) Western Ghats
(D) Central India

India has longest international
border with which country —

(A) China

(B) Nepal

(C) Bangladesh

(D) Pakistan

Which among the following is the
major cause of acid rain —

(A)
(B)
(C)
(D)

Oxygen
Nitrogen dioxide
Carbon dioxide

Carbon monoxide

The éxponent of Yoga Philosophy
is —
(A)
(B)
(©)
(D)

Baba Ramdev
Shankaracharya
Ravi Shankar

Patanjali

Which country is called the 'country
of winds' -

(A) Norway
(B) Denmark
(C) India
(D) Japan
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T BOR Mpiciss varf & -
(A) BRI

(B) &ReA
(C) arer
(D) wfeaw

A 318 UV-TaRon ¥ sreaitis wafed
& ST & 99 971 &) Gl 27

(i) wicRen-da o afa

(i) sl @ aif

(i) AT BT PR

(iv) STHRR™ & IR

(A) (i) 3R (i)

(B) (ii) 3R (iv)

(C) (i) 3R (iii)

(D) (iii) 3iR (iv)

R B 3T U T TE ¢ -

(A) AT E-Ae B Re &l

(B) i e v & AR & wI D
smaea el

(c) e & 3¢ afts et & Fad
&l

(D) aﬁqwsﬁaﬁﬁmmﬁl

‘yoa e o f&a o wemam st
&_

(A) 5 FgawR

(B) 5 GG

(C) 57aRR

(D) 1 30fe

puU22

[11]

3&. The hardest natural substance

40.

41.

42.

[c]

5%
(A) Diamond

(B) Tungsten

(C) Iron

(D) Platinum

Excessive exposure of humans to
UV-rays results in =

(i) damage to immune system
(ii)
(iii)
(iv)
(A)
(B)
(C)
(D)

damage to lungs
skin cancer
peptic ulcers

(i) and (ii)

(ii) and (iv)

(i) and (iii)

(iii) and (iv)

Which of the following statement
is not true —

(A) Chatting is like e-mail.

(B) Chatting can only be done with
a single person.

Chatting can involve multiple
persons.

(C)

(D)

Chatting is an electronic
dialogue.

'World Teacher's Day' is celebrated
on which day -

(A) 5 September

(B) 5 October

(C) 5 November

(D) 1 April

P.T.O.
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43.

44,

45.

46.

C]

osed by

Which disease is diagn
'ELISA test' —

(A) Polio

(B) Cancer

(C) Typhoid

(D) AIDS

Officially, the state game of
Uttarakhand is —

(A) Football

(B) Cricket

(C) Kabaddi

(D) Hockey

Where will the Olympic games be
held in year 2024 -

(A) Tokyo

(B) Beijing

(C) Paris

(D) Los Angeles

Who is the author of the book
'‘Wings of Fire' -

(A) A.P.J. Abdul Kalam

(B) Arundhati Roy

(C) Annie Besant

(D) M.S. Dhonij
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R s e gl Reeml @ a9
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(A) T AT

(B) St g

(C) de welRa

(D) RIer Ty

[13]

47.

48.

49.

50.

[C]

h Indian woman hockey player

Whic _
arakhand Tilu

Rauteli award in
(A) Rani Rampal

(B) Savita punia
(©) vandana Katariya
(D) Sushila Chanu

How many districts of Uttarakhand
touch the international border —
(A) Three

(B) Four

(C) Five N

(D) Six

The first speaker of Uttarakhand

Legislative Assembly was —

(A) Prakash Pant

(B) Yashpal Arya

(©) Raghunath Singh Chauhan
(D) Nityanand Swami

What is the name of the campaign
recently launched for the safe
return of Indian citizens trapped in
war zone of Ukraine —

(A) Operation Surya Hope

(B) Operation Rahat

(C) Operation Return Home

(D) Operation Ganga

P-T-O-
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(V) wreg-amy

(A) (D), iy, i), (iv), (v)
(B) (b, (ii), (i), (iv), (v)
(C) (i), (i), (iiiy, (iv), (v)
(D) (i), (v), Gy, i, (i)

8 : 50 §3Y 3 20 foFTe. et doa worer =
qéﬂﬁguﬂéﬁwaﬁugw@qgm%ag
40 f5E &R & 31T At s ¥ 30 R

U 37T 7T &1 I S 75 d55 @51
FeiRa g oar e

(A) 8:20
(B) 8:
(C) 8:

(D) 8:

vP U 3 & Refedi welfa & afe s
TGS SR &, al 9699 T aen 3 a1

grmT?
g
(A) 6 (B) 4

(C) 3 (D) 2

[14]

C

51. Which alternative represents the
logical sequence of the words given

below -

(i) Diagnose

(i) Doctor

(i) Sick

(iv) Treatment

(v) Convalesce

(A) (i), (i), (iii), (iv), (V)

(B) (iii), (ii), (i), (iv), (v)

(C) (i), (i), (iii), (iv), (v)

(D) (iv), (v), (1), (iii), (ii)
52. Reaching the meeting place 20
minutes before 8:50, Satish came
to know that he had arrived 30
minutes before the one.who was
40 minutes late. Tell what was the
scheduled time of the meeting?

(A) 8:
(B) 8:
(C) 8:
(D) 8:

20
10
05
00

53. Two positions of a die are shown.
If 5is at the top,

at the bottom?

&

(A) 6

then what will be

e

(€3 (D) 2
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ToreT SR gl o Sieer ‘g W 2,
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(A) famme

(B) it

(c) fasma

(D) wifa

3 - Py Fren o e &-
(A) @Waﬂﬁﬁiﬁmqﬁmﬁ

51 i 3R R 4 39 TP O
oo, ot i e e e
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WWW‘

viA AV VIA A
(D)

IKVA AlV VIV V
A

) ® (©

54. As

55.

56.

[C]

'Smoke' is related to 'pollution’,
in the same way, '‘war' is related
to - ' ‘
(A) Destruction

(B) Treaty

(C) Victory

(D) Peace

statement : Every library has

books. ‘
on the basis of the above

statement, which of the following
conclusion can be drawn -

(A) Some libraries do not have

readers.

~(B) Books are only in the library.
- (©)

Libraries are only for books.
(D) No library is bookless.

From the given answer figures,
select the figure which will be
obtained by folding, punching and
opening the paper respectively as
shown below in question figures-
Question Figures-

N

Answer Figures-

A VA AV VIV V

A via Alv via A

[15]

puU22
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58.

59.

60.

pU22

I 'LIGHT' &1 g o 'GILTH' b
ST & F 'RAINY' &7 %e 81T -

(A) IARYN

(B) ARINY

(C) NAIRY

(D) RINAY

fopeiY I WTeT H,

125 = Go to school

146 = Study in school

135 = Run to school

‘Run' & fole ®IF-91 3 W fosa
T 8-

(A) 1

(B) 2

(C) 3

(D) 6

[16]

57

58.

59.

60.

CV‘

Find the missing term (?) in

following letter series —
AZ, CX, EV,?

(A) GS

(B) GT

(C) FT

(D) HS

BF is related to DH in the same way
as PS is related to —

(A) SuU

(B) sv.

(C) RV

(D) RU

If 'LIGHT' is coded as 'GILTH', then
find the code for 'RAINY' —

(A) IARYN

(B) ARINY

(C) NAIRY

(D) RINAY

In a code language -
125 = Go to school

146 = Study in school

135 = Run to school

Which digit is used for 'Run' -
(A) 1

(B) 2

(C) 3

(D) 6
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R & T 3R s ¥ & Ree
W 3Tl ffea &?
S 3Tt

IR Spferr-

ally

(A) (B) (©) (D)
Py 3 2 -0 3R TR, e St
¥ vfereT @Y O AP
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2N
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Qa?r,?ﬁR'\ef PﬁTaﬂTﬂ'éﬁTg?

[17]

61.

62.

63.

64.

[C]

gures given

Which of the answer fi
tion figure?

below contains the ques
Question figure

-

u

Answer figures—

i

(A) (B) (c) (D)
answer figure
ttern.in the

Which of the following
will complete the pa
question figure?
Question figure

é'ﬂ

Answer figures—

— T ¢
I’;— wilapllcy

a ® (© (O |

A PR X S and Z are sitting in a
row. S and Z are in the centre. A
and P are at the ends. R is sitting
to the left of A. Who is to the just

right of P?

(A) S

(B) X

() Z

(D) None of these

"If P is husband of Q and R is mother

of S & Q, then how is P related to
R? -

(A) Sister

(B) Mother

(C) Mother in law

(D) Aunt
P.T.O.
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66.

67.

68.

e R e e+ Reoer e o
(A) dfar
(B) e

(C) vegfifem
(D) e

tﬁaﬁ?{-ﬂﬁ]ﬂ" 337-]?{, Iﬁ's'q,smwaﬂ?
< &1 AR, wer I Berd, afee <
¥ T ] e e o 216
AT A ST BieT & 3R ARM < ot
ORI | GERT W o i &

(A) I —
(B) 9ORM

(C) ®HA

(D) 37071

o ae 9 v el (P) & RIM R
B & UG 3R -
a,d,cf?hg7?i

(A) e ]

(B) e, k

(C) i e

(D) f,]

PreftiRad & F -7 I Sl Ty
3 AR I W Erm? '
(A) Transmit

(B) Transplant

(C) Transport

(D) Translate

DpuU22

[18]

65.

66.

67.

68.

[C]

Choose the odd word in the given

alternatives —
(A) Copper
(B) Brass
(C) Aluminium
(D) Iron

There are five friends - Sachin,
Kamal, Mohan, Arun and Ram.
Sachin is shorter than Kamal, but

‘taller than Ram. Mohan is the

tallest. Arun is a little shorter than
Kamal and a little taller than Sachin.
Who is the second tallest?

(A) Ram

(B) Sachin

(C) Kamal

(D) Arun

Which terms will come in place of
question marks (?) in the following
series —

a,d,c,f,?,hg,?i

(A) e, ]

(B) ek

(C) j e

(D) f,j

Which of the following word will

come third in the English dictionary?
(A) Transmit |

(B) Transplant
(C) Transport
(D) Translate



69.

70.

71.

RrfoRact R oy e <
aﬁgﬁuﬁmg@-\qm%_
(A) DG2

(B) EK5

(C) IR6

(D) RV3

FrafeRaa Tl #§ & OF ve FiRed
YR X GHF & Safh 9 v 3 &
a8 U ST g S 3 i ¥ i
8

(A) 17

(B) 15

(C) 13

(D) 11

Sy Ry 1 e # B HET AP
Ry (?) &Y ST Tl ~

pu22

(A) 23
(B) 27
(c) 21

(D) 25

[19]

[C]

69. In the following options, choose the

70.

71.

ARk
o[ 8/

number-letter group which is
different from the others —

(A) DG2

(B) EKS5

(C) IR6E

(D) RV3

In following numbers, three are

alike in some manner while one is
different. Choose the oneé which is
different from the rest three —

(A) 17

(B) 15

(C) 13

(D) 11

Which number will replace the

question mark in pattern below —

by
? |12

an

(A) 23

(B) 27

(C) 21
(D) 25

P.T.O.




(A (®) © (D)
73. T &I YT cRfor-uf¥hm o 3R &
dg 225° grHTad 3R iR 3150 afdomad
el 21 a8 319 fova e o 3R 3g
3
(A) aféorgg
(B) @@
(C) ITR-Ue™
(D) IR
74. T & Y S A1 U9 &= 57 9T &,
e f&E 718 HrTsT & 2Ne BT AIgax ud
§TIT FE?
5
311
6
4 |2
I 5 1 2
Hﬂ 112 6|7 13
(A) (B) (©) (D)

DpuU22

/2w

73.

74.

Select a figure from the given
options which will continue the
same series as established by the
Problem Figures -

Problem Figures

DR E R

SE

D B R D

(A) (B) (@) (D)
Suhani is facing towards South-
West. She turns 225° anticlockwise
and then 315° clockwise. Which
direction is she facing now-

(A) South-East

(B) East

(C) North-West

(D) North

Which of the following cubes can
be formed if the given sheet of
paper is folded to form a cube?

5
311
6
412
51 52 1 ”
6 ) (4 ﬂ
(A) (B) (C) (D)



75. & T TR Azger A 0X Roey 6

76.

PFe e 92 AT e A 3 & & -

9639436693369363963
69

(A) 0

(B) 1

(C) 2

(D) 3
PrefRan St et 3 30 I
&1 7o &, 311 7 T o & qon |
&l ST 37 Gl & -

INCARCERATION
(A) RELATION
(B) TERRAIN

(C) INACTION
(D) CREATION

Eran-Frr (572 77 9 81) : AT G TR

a%rqésﬂ?ﬁm%%ﬁqﬁrﬂsﬂ?é—
P,Q, R,ssﬂTTﬁyﬂwﬁﬁglEﬁgﬁﬁﬁ
g‘h?fﬁgalé‘r%"lP?:ﬂTSﬂﬁaT%ﬂq%aT@
5 oifc Rt o et T T oelt £
s <t sk 3 o et e et
3| oo Ferarfa s & v Ul €1 R
&7 aré Q & 3R 3 =1 & O RSt &
aik 7 & gler RaeTs! &1

puU22

[21]

75. How many 6's ar

76.

C]

e there which are

preceded by 9 but not fqllowed by

3 in the given number series —
9639436693369363963
69

(A) O

(B) 1

(C) 2

(D) 3

From the given alternative words,
select the word which cannot be

formed using the letters of the given

word -
INCARCERATION

(A) RELATION
(B) TERRAIN

(C) INACTION

(D) CREATION

Directions (Questions 77 to 81) :

Study the information given below

and answer the questions that
follow :

There are five persons P, Q, R, S
and T. One is football player, one is
chess player and one is hockey
player. P and S are unmarried ladies
and do not participate in any game.
None of the ladies plays chess or
football. There is a married couple
in which T is the husband. Q is the
brother of R and is neither a chess

player nor a hockey player.

P.T.O.



77 pedier Reed o 7 77. Who is the football player?
(A) p (A) P
(B) Q (B) Q
(C) R (C) R
(D) s (D) S
78. ﬁaﬁf\@m—@raﬁqu | 78. Whois the hockey player?
(A) P (A) P
(B) Q (B) Q
(C) R (C) R
(D) s (D) S
79. o9 Racms el &7 79. Who is the chess player?
o k) ¢
(B) Q B -
(C) R o T
(D) T
80. T &I U= P &? 80. ZZ:OLS the wife of T?
o (B) Q
(B) Q poe
(C) R
D) S
(D) S (D)
81 S afeem € - 81. The three ladies are -
(A) PQR (A) PQ,R
(B) QRS (B) Q,R,S
(D) PR/S (D) PR, S

DpuU22 [22]




R (577 82 91 84) + 57 el 5 3 &

82.

83.

DU22

& foe AR Re e s @ semaH
R

A

G
E

F

C D

B

SRIes spfer 3 Pt ridt # feemsh
B g &, Tt ¥ SRS Aigensi &
attar o & 31k g Rt wftemst o
&I 7| -

a7er D b SRt FRAT € -

(a) Tiat # aififéra Afeem

(B) g B ARISTIR Afece 3 e
T &

() Riftra SRR Afeete

(D) Faftra Frrifora wfeeme

i R SRR wfdensl S agian
T -

(A) ATRT

(B) BERI

(C) DEI

(D) EGRI

[23]

82.

83.

[c]

Directions (Questions 82 to 84) :

Study the diagram given below to

answer these questions :

The triangle in the above figure

depicts women in villages, the

square depicts the unemployed
women and the circle depicts the

educated women.

What does letter D represent —

(A) Uneducated women in villages

(B) Unemployed women in villages
who are not educated

(C) Educated unemployed women

(D) Educated employed women

Educated unemployed women in

villages are represented by -

" (A) A

(B) B
() D
(D) E

P.T.O.




84.

85.

86.

87.

Tmmwamm
(A) BﬁTCm
(B) D3R EgRT
(C) E3R FERT
(D) G3REgRr

afe < @1 orf wemT, >t a1 o
‘ST '=" B 31 O 3R $ @I
3 ¥ fenforr &, @ 27>81%9<6
T AF TAT BATT?

(A) 6

(B) 33

(C) 36

(D) T I P &

I 1 JeER B fGaR &, ar 1 FdaR
GARSEIE |

(A) IHaR

(B) HIeldR

(C) FUaR

(D) TAR

fFr=feRaa wweasit 3 & siol o e
% 0% fopem Ao &) ST Wb &,
3 8 3icp Hige &°
8,52,1,7,6

(A) 9

(8) 10

(c) 11

(D) 12

DU22

C

84. Educated unemployed women areé

85.

86.

87.

represented by -
(A) BandC

~(B) DandE

(C) EandF
(D) Gand E

If '<' means 'minus', '>' means
'plus’, '=" means 'multiplied by' and
'$' means 'divided by', then what
would be the value of 27>81$9<67?
(A) 6 '

(B) 33

(C) 36 '

(D) None of these

If 1st October is Sunday, then 1st
November will be - '

(A) Monday

(B) Tuesday

(C) Wednesday

(D) Thursday

How many combinations of two-
digit numbers having 8 can be made
from the following numbers?
8,521,7,6

(A) 9

(B) 10

(C) 11

(D) 12



88.

89.

DU22

ﬁéﬂ:m(i)ﬁ?(ii)wf&@m
RIS W Weiferer ) fee o 3 3 vo
SN TR 3BT (i) 3K (iv)
S W <y i 3, S s

(iv) ® W forg 7 <o &
ngmﬁgﬁ_

] |=&) 2

(i) (i) (i)  (iv)
3?‘-\"3@%?“0‘

(A) (B) (©) (D)
PifsTE - ' 4

/\

(A) 5
(B) 6
(C) 8
(D) 10

[25]

C

88. Direction : Figures (i) and (ii) are

related in a particular manner.
Establish the same relationship
between figures (iii) and (iv) by
choosing a figure from amongst the
given alternatives, which would

replace the questions mark in fig. (iv).

Problem Figures-

N ?

[

@ @) i) (i)

Answer Figures—

D

0% QO

(A) (B (© (D)

89. Find the number of triangles in the

given figure-

A

(A) 5
(B) 6
(C) 8
(D) 10

P.T.O.



TR (57 90 9 91): o 41 s

90.

91.

92.

mﬁ.ﬁvmmﬁm(m, (B),
(©) 3R (D) ¥ ¥ ampfy (x) B =
T il @ T gUuT @
siiif~itres X MN gRT Rear T 21

M2

M \\\\\\\?\}\\\\\\\Y i
X

W1

LM

(D)

3
2
(©)

(€)

(D)

(A) (B)
3R U W 3BT (X) AT & dpledcd
3m@ﬁ$ﬁrﬁi#3afmgﬁ%aﬂinFnﬁi3ﬁ
srgpfr (X) % e e v qof af
forfor aR-

Bk

(X) |
(A) ® (O

(D)

DU22

[26]

C

Directions (Questions 90 to 91):1In

90.

91.

928

each of the following questions,
choose the correct mirror-image of
the Figure (X) from amongst the
four alternatives (A), (B), (C) an_d
(D) along with it. The mirror Is

represented by a line MN.

MW

M“\\\(\\X\\)\\\\\N
= WM 3
= W <= WM
(A) (B) (C) (D)

k4

=

(D)

Given below is a problem figure
marked (X). Select a figure from
amongst the alternative figures
which exactly fit into figure (X) to
form a complete square.

ek

(X)

(A) (B) (C)

-

(D)



93.

94.

ﬁmﬁifm=ﬁwmﬁ,wm@%
SR PRt (a), (8), (C) 3tk (D) A
%aﬂwﬁar@%,ﬁmm(ﬁ@w)

D R M-

O

AN

JAN

B\

(D)

/o)

(®)

B

(B)

/2\

(A)
o1 fapeul & o1l & TR S1S few e
& 5 ¥ Uo @) OIS 3 Sigt A
e T 9 G 9 W Haftid €1 98
i1 gfe formt AT w1 37T YR &
et & -

(A) T : B

(B) T : I
(C) g&:ad
(D) der: BrFe

puU22

[27]

93. Direction :

C

In the following
question, find out which of the
answer figures (A), (B), (C) and (D)
completes the figure matrix —

O

O

/o\

A\

/B\

(D)

B

(B)

/o)

(©

/o\

(A)

94 In following options, four pairs of

words are given, out of which the
words in all pairs except one, bear
a certain common relationship.
Choose the pair in which the words
are differently related-

(A) Class : Students

(B) Sentence : Words

(C) Tree : Forest

(D) Hour : Minutes

PITIOIV



95. u%'P+Q'a?r3R?%"P,Qésﬁm‘s“';
'PXQ'aﬂmé'P,Qarmgg';
P-Q@ e qiraea
%ﬁﬁWC—A+B$aﬁﬁ
R o 9 v
(A) B, A®TqeT
(B) A, C@rqer gl
(C) B, Ad fuar &)

(D) C, B&I AT &I

96. P fsbcbe Raemel, e RaeTel € &
< Raemgl, gfar Raemst & @18 4t
fopepe Racs!, gfar Raes! =&l &
FrefeRaa & BiF 91 37 31RE SRID
7ot T e wfi-IferE @Rl &7

O
@ @
ap O

DU22

C

95. If'P + Q' means 'P is the father of

Q', 'P x Q' means 'P is the brother
of Q'; 'P-Q' means 'P is the mother
of Q', then which of the following is
definitely true about C-A+B ?

(A) B is the son of A.

(B) A is the son of C.

(C) B is the father of A.

(D) Cis the mother of B.

96. Some of the cricket players are
tennis players, some tennis players
are hockey players, none of the
cricket player is a hockey player.
Which of the following Venn
diagrams correctly represents the
above statements?

® @
@D @



[C]

In the following

97. pirections :
are given @

o7. Reemfrer : FriferReres et H, smo! .

31 qofTer 5 arer} o e fadr g;nizmgggﬁ o);oaulphabets.tcrlloosie
. ; . "

FROG FROG
(A) EEQC (A) EEOC
(B) GORF (B) GORF
(C) oodH4 (C) 90¥3
(D) kO C (D) LYO C

98, fy 3T auiHEn & TEd ;
e 053 ® _34*\; 264, og. If 1st and 26th, 2nd and 25th: 3rd
%ﬂi 25d, PR 3k 244, 3ﬂ?g€ﬁ and 24th, and so on letters of the

English alphabet are paired, then

a‘@'maﬁavﬁashgrmw%‘,
a’rﬁmﬁ@rﬁqwsﬁ@'ﬁﬁ%‘— which of the following pair is
(A) GR correct?
(A) GR
(B) CW (B) CW
(C) 1P () P
(D) EV (D) EV
ey (15 e 99 g 100) : & T TR Direction (Q- No.99 and 100) : Which
. 'ﬁ'@(aﬂﬂ-@ww. one of the given four answer-
my@%zﬁﬁewgaﬁfﬁmﬁ | figures can be formed from the
pieces given in problem figure ?

Answer Figures

?ffa-,‘crﬁ‘ ?
ot K 99. Problem
99. W TP TR el Figure

= TEDN | I [T

AN
a) (B (© (©® ' (A) (B) (C) (D)
100.9%4 341@5% IR 3{@%?:]?[ 106.Problem \ Answer Fi
T_—A DA Figure gures
(] AU
A) (8) (© (D) a4

pu22 ) (A) (B) (C) (D)
P.T.O.




| mﬂﬁm%‘(nﬁ.mﬁm%‘) .

102.

103.

DU22

<

(A) 4 cm2
(C) 0.86 cm2

(B) 2 cm?
(D) 3.14 cm?

aY 37T B febertt wiems &, 3 10 &

quieran fawfsra & st &2
(A) 10 (B) 9
(C) 90 (D) 99

= Frafia seys, 5 ses &
aRfer 120 cm &, & o # aoife srER
ST 7T &1 59 3l af aRkfer & -

(A) 360 cm (B) 320 cm

(C) 300 cm (D) 280 cm

[30]

101.

102.

103.

C

Diameter of a coin is 2 cm. If four

such coins be placed on a table
so that the rim of each touches
that of the other two, then area
of the unoccupied (shaded) space
between them is (Take n=3.14)-

<

(B) 2 cm?

(A) 4 cm?
(C) 0.86 cm? (D) 3.14 cm?

How many two digit numbers are
there which are exactly divisible

by 10?
(A) 10 (B) 9
(C) 90 (D) 99

Three regular hexagons of

perimeter 120 cm each are
joined as shown in figure. The

perimeter of this figure is-

(A) 360 cm
(C) 300 cm

(B) 320 ¢m
(D) 280 cm



104. ?Jﬁ‘{42 165 :: m: 330 % ar

105.

106.

DU22

m
=+
26

m A g -
us

(A) 2
(B) 5/6
(C) 3/4

(D) T I B &

TS ATAGR WioT {5t avars
1024 cm 3R dl=E 240 cm &, &

THM AHR & TNMBR TEed o Ydb!
fobam ST 21 e Trset @Y Y
3T TTTS BRI -

(A) 8 cm (B) 16 cm

(C) 24 cm (D) 12 cm

T f3-3mamt angfa § 5 Ber, 8
R 3tk 5 S &2

A

(C) (D)

[31]

104.

105.

106.

C
If 42 : 165 :: m : 330, then the

_I'D+6

value of m_, will be -
3

(A) 2

(B) 5/6

(C) 3/4

(D) None of these

A rectangular courtyard of length
1024 cm and breadth 240 cm is
to be paved with same size of
square tiles. The maximum length
of the side of each tile will be-
(A) 8 cm (B) 16 cm

(C) 24 cm (D) 12 cm

Which of the three dimensional

figure has 5 faces, 8 edges and 5

vertices?

(A) \ (B) .
A

(C) (D)

0
" %
o* ',

plTuo.



107.

108.

109.

DU22

-

‘Tl's'qxéﬁsﬁmzi%ﬁammsqvéas
B8 B F R W TP SRRT
R PA L BTES R R ——
®1 AR AR U v e @ Ry
3 1 5 e 3 o5 a7 ey o
St -

17

24

24

17

17

120

(A)
(B)
©

1
(D) 3
U GHMER ] b 3o Hed | 4%
oI g o 81 afe avg & B qe
% 100 & 3R T8 20% &1 e HAT &
r 3T 3ifcse gew fovem 2 aifge-
(A) T 96
(B) 120
(C) %125
() T 130

afe it ot &Y e =T &t A
forar ST, a9 e § ier gfe
-
(A)
(B)
©
(D)

200%
250%
300%
400%

[32]

107.

108.

109.

C

A pipe X can fill the tank in 12
hours and pipe Y can fill the tank
in 8 hours. A third pipe Zempties
tank in 15 hours. If all pipes are
opened togather then after 5
hours, what portion of the tank

will be filled-

ﬂ
24
]
17
17
120

(A)
(B)
(C)

() 5

A shopkeeper allows 4% discount
on his marked price. If the cost
price of an article is ¥ 100 and he
has to make a profit of 20%, then

his marked price must be -
(A) ¥ 96

(B) ¥ 120

(C) ¥ 125

(D) T 130

If each edge of a square be
doubled, then the increase
percentage in its area will be -
(A) 200%

(B) 250%

(C) 300%

(D) 400%



110.

111,

112.

113.

W25mmwaﬂaﬁ_\qﬁ%_
(A) 12,5

(B) 13

(C) 13.5

(D) 15

web Tt 310 g 3 AN 39 T &1 20
A USe! € 319 I B 39 B kT
T[T o7 3! T 39 @ &
(A) 240Td2TY

(8) 7207d 36T

() 48Td 24T

(D) 44Td 22 a9

1 1
aﬁun—;—m,?ﬁul+u2+u3+

u, +u BT AFE -

(A) (B)

(D)

©

aﬁams:ﬁsﬁwﬁ%w
ST 1. 9. 48 T 39 <) | B

7.3, 8 -

(A) 4 12

(B)

(c) 16 (D) 24

[33]

110. The averagé of firs

111.

112.

113.

C

t 25 positive

integers is -
(A) 12.5
(B) 13
(C) 13.5
(D) 15

A father is twice as old as his son.
20 year back, he was twelve

times as old as his son. What are

their present ages?
(A) 24 & 2 year
(B) 72 & 36 year
(C) 48 & 24 year
(D) 44 & 22 year

1 1 :
If u =————, then the value of

u
" n n+l
u1+u2+u3+u4+u5is—

(B)

L
3
(D) %

If two numbers are in the ratio
3:4 and their L.C.M. is 48. Then

the H.C.F. of those numbers will

be -
(A) 4 (B) 12

P.T.O.




114,

115.

116.

DU22

< St 1 S 4+ 7 1 e
mﬁ%mmmmm

1+ 28 ST ) A ) e & -

(A) 40 (B) 70

(© 80 (D) 100

U g1 I uRfer feseit 22 k. 9
T & RA & IR 5 7
&The e

(A) 49ncm? (B) 196n cm?
(C) 484ncm? (D) 28ncm?
fRddeR s gmas & -

(A) U (B) @

(©) g (D) X

a 1 a+b =
Al =5, T &I A SN
1
(A) -3 B) -
1
© 2 (D) 3

[34]

114,

115.

116.

A5l 7

C

The ratio of two numbers is 4:7.
On subtracting 10 from each
number, the ratio becomes 1:2,

then the greater number is -

(A) 40 (B) 70

(C) 80 (D) 100

The circumference of a circle is
equal to the perimeter of a square
of side 22 cm. The area of this

circle is -

(A) 497 cm? (B) 196 cm?

(C) 484n cm? (D) 28n cm?

Which of the following is an open

curve-
() U ® (O
) g ‘? (D) %

1
If %:E, then the value of a+b
a-b
will be -
(A) -3 By L1
(B) 3
()2 (D) -3




118.

119.

120.

afe i & st @ T
3.:4:5: 6 Bl TSt B PIvil T
A  &-

(A) 30°, 40°, 50°, 60°

(B) 90°, 120°, 150°, 180°

(C) 60°, 80°, 100°, 120°

(D) 60°, 80°, 95°, 125°

a8 BIEY A Bid) e Fape o 24,
30 31X 54 ¥ fywfora &= W 7D
a7 # Yo 5 STl &l & -

(A) 1080 (B) 1075

(©) 1085 (D) 1090

121, dfE n TF QUIic WA €, d9 HE

DU22

(n3-n) Hﬂaﬁ”ﬁﬁﬁ% -
) 119 B) 59
(C) 6% ©) 79

[35]

118.

119.

120.

121.

C]

If the ratio of internal angles of a
quadrilateral is 3:4:5:6, then the

angles of quadrilateral are -

(A) 30°,40°, 50°, 60°
(B) 90°, 120°, 150°, 180°
(C) 60°, 80°, 100°, 120°

(D) 60°, 80°, 95°, 125°

(A) 2 (B) 3

(C) 6 (D) 9

The least number which divided
by 24, 30 and 54 leaves 5 as

remainder in each case, is -
(A) 1080 (B) 1075

(C) 1085 (D) 1090

If nis an integer, then (n3-n) is

always divisible by -
(A) 11 (B) 5

(C) 6 ‘ (D) 7

P.T-O.



122,

123,

124.

125.

DU22

%UW%EEW,WQHQEW

WW%él uﬁgﬁaﬂaﬁg
8 BoC BT HF & -

)

60° (B) 30°
1200 (D) 150°

(A)
(©)

U Hel # 19t 10 faenlfat &1 uR
(fosum #) 39 bR & -
33.,35,38,39,40,41,42 43,44 45

39 el H 31T 9R & 3iftie WK
(A) 40 (B) 5

(C) 6 (D) 4

A T 99 B I 50% 3P &1 B &

qa A S I 3 fopar wferere o &7
(A) 50 ® 35

(C) 66% (D) 25

&

(A) 5 (B) 5.6

(c) 7 (D) 28

[36]

122. As per the given figure, there is

123.

124.

an equilateral triangle inside a
circle. If O is the centre of circle

then #BOC is equal to -

N

¢
(B) 30°
(D) 150°

(A) 60°
(C) 120°

The weight of all 10 students in a

class (in Kg.) is as -
33,35,38,39,40,41,42,43,44,45

The number of students having

weight more than the average

weight of the class is -

(A) 40 (B) 5

(C) 6 (D) 4

A's salary is 50% more than that
of B. How much percent is B's
salary less than that of A?

1

(A) 50 (B) 33

(©) 66% (D) 25

125. The median of first five prime

numbers is -
(A) 5 (B) 5.6
(€) 7 (D) 28
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(A) 1500 (B) 50

(C) 25 (D) 15

2 3 4

3 53ﬁ176ra}r.tr.’s‘-
12

(A) El (B) 4

(C) =< (D) 12

105

afE axb = (a+b)? Al 3x7 T A &-

(A) 25 (B) 10

(C) 20 (D) 100
89071 & 9 & 3iftpd (e 7 31k
I 7N &1 AT & -

(A) 9000 (B) 9071
(C) 18000 (D) 9009

96 BT I T 9 & -

(A) IXVI (B) IVC

(C) XCVI (D) LXXXXVI
(256)% & A & -

(A) 192 (B) 16

(C) 64 (D) 8

[37]

126.

127.

128.

129.

130.

131.

. (C) 20

C

A man bought an old mobile
phone for X 4000 and spent
£ 2000 on it. He sold it for ¥ 7500.

His gain percent is -

(B) 50
(D) 15

(A) 1500
(C) 25

2 3 4
The LCM of =, = and 7 is -

35
(A) 1—72— (B) 4
(© = (D)1

If axb=(a+b)?, then value of 3*7
is -
(A) 25 (B) 10

(D) 100

Sum of face value and place value
of 9 in 89071 is -

(A) 9000 (B) 9071

(C) 18000 (D) 9009

The Roman number form of 96
is -

(A) IXVI
(C) Xcvi

(B) 1vC
(D) LXXXXVI

Value of (256)%4 ig -
(A) 192 (B) 16

P.T.O.
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134.

135.

DU22

B T T T T 3 ST,
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(A) 2163FH.  (8) 8.
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(A) 2 (B) 3

(©) 7 (D) 11
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C

132. The volume of a cube is same as

133.

134.

135.

the volume of a cuboid having
length 9 cm, width 6 cm and

height 4 cm. The length of the side
of cube will be -
(A) 216 cm (B) 8 cm

(C) 4 cm (D) 6 cm

Find the least number by which
19404 must be divided to get a

perfect square number-

(A) 2 (B) 3

(C) 7 (D) 11

The sum of two numbers is 14
and their difference is 10. The
product of these humbers will be-
(A) 12 (B) 24
(C) 140 (D) 68

In what time does a sum of
money become two times at the

simple interest rate of 10% per

annum?

i
(A) 5year  (B) 10 year
(C) 15 year (D) 20 year
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126.

127.

128.

129,

130.

131.

. (C) 20

C

A man bought an old mobile
phone for ¥ 4000 and spent
¥ 2000 on it. He sold it for ¥ 7500.
His gain percent is -

(A) 1500 (B) 50
(C) 25 (D) 15
2 3 4

The LCM of 33 and = is -

12
(A) rl (B) 4

24
(C) 105 (D) 12

If a*b=(a+b)?, then value of 3*7
is - ;

(A) 25 (B) 10

(D) 100

Sum of face value and place value
of 9.in 89071 is -

(A) 9000 (B) 9071

(C) 18000 (D) 9009

The Roman number form of 9g
is -

(A) IXvI
(C) xcvi

(B) 1vc
(D) LXXXxVvI

Value of (.256)3/4 is -
(A) 192 (B) 16
(C) 64 (D) 8

P.T.O.
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137.

138.

139.

Hﬁa:b=2:33ﬁ§’b:c=6:5?ﬁ
a:b:ic®lHE FdRe -
(A) 2:3:5 (B) 4:6:5
(C) 2:6:5 D) 2:2:5
afe p, q, r, s FUT ¢ G AT fawe
q&mU g, @ FE A Y a5
it & & -
(A) pt4
B) r
©) p+q+;+s+t

pqgrst
(O) —5—
Ye3ST & AT SiA:DIvl BT ART B
3 _
(A) 120° (B) 360°
(C) 540° (D) 720°
afe e aree o oers 3R disE

wHe: 7 1Y, 3R 6 A1 &, qen =9
210 A% 9 37T &, A S RIS
-

(A) 5. (8) 7 HI

(€ 107 ©) 37

[39]

136.

137.

138.

139.

C

Ifa:b=2:3 and b:c=6:5, then find

the value of a:b:c -

(A) 2:3:5 (B) 4:6:5

(C) 2:6:5 (D) 2:2:5

If p, q, r, s and t are five
consecutive odd numbers, then
which of the following is not their
average-

(A) pt4

(B) r

(©) p+q+;+s+t

pgrst
(D) —5—

Sum of all internal angles of a

hexagon is-
(A) 120° (B) 360°
(C) 540° (D) 720°

If the length and width of a pond
iS7mand 6 m respectively and

it contains 210 m® water in it

/

then its depth will be-

(A) 5m (B) 7 m

(€) 10:m . B)..3

P-T-O.
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T TR 3T awgail W 37
TGt R 20% 3t T @5t ol &
3R fosht & wma 10% g v |
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(A) 10% . (B) 30%
(©) 12% (D) &%

e 500 BT x%, 300 B y%d a<I6R &

Fﬁx:y%‘-
(A) 5:3 B 3:5
(C) 5:8 (D) 3:8

11.3x11.3-2%x11.3x1.3+1.3x1.3

TR & -
(A) 100 (8) 10
(C) 158.76 (D) 114.69
1- 11 HTAM S -
l+———-l—
14—
3
8
(A) 3
2
(B) 3
5
(®) 3
(D) T I BIg Tl

[40]

140.

141.

142.

143.

C

A trader lists his articles 20%

above their cost prices and allows
a discount of 10% at the time of
sale. His gain percent is -

(A) 10% (B) 30%
(C) 12% (D) 8%

If x% of 500 is equal to y% of
300, then x:y is -
(A) 5:3 (B) 3:5

(C) 5:8 (D) 3:8

11.3x11.3-2x11.3x1.3+1.3x1.3

is equal to-
(A) 100 (B) 10
(C) 158.76 (D) 114.69
The value of |- ll is -
f i s
14 -
2
8
(A) S
2
B —
B) %
5
(© 3
(D) None of these
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C

144. Two numbers are in the ratio 3:4.

145.

146.

Direction (Q. No. 147-148) :

Their LCM is 84. The greater
number in them is-

(A) 7 (B) 12

(C) 21 (D) 28

If m and n are even and odd
integrers respectively which
satisfies the conditions 11<ms< 13
and 12<n<14, then the value of

m-+n will be -
(A) 23 (B) 25
(C) 27 (D) 26

In a class of 70 students, every
student play atleast one game. If
40 students play cricket and 37
students play hockey, then
number of students who play both

the games will be -
(A) 77 (B) 3
() 7 (D) 63

Study
the pie-chart carefully and answer
the questions. The pie-chart
represents the percentage of
people involved in various
occupations.

Total number of people=20,000

P.T.O.




147,

SR & e 3 Jar § et aim
o T e i 27
(A) 1000 (8) 2000

(€) 4000 (D) 5000

148. P &= ¥ fpay AT e & -

149,

150.

(A) 6000 (B) 3000

(C) 1800 (D) 3300

AT B TS B GRIER &, 37 e
T 3T 5 < 4 &1 TS DT B PeT
3 14,400 T T4 37 Al A DI AT &I

e feman fer?

(A) T 6400 (B) <8000

(c) 9000 (D) 9400

Prefifaa i & B v FHeIT B
o YIAC T © -

(A) 9cm, 15cm, 12 cm
(B) 2cm,1cﬁ1,J§ cm

3¢cm,4cm,5cm

(©

5¢m,7cm,9cm

(D)

[42]

147.

148.

149.

150.

<

How many more people are
involved in service than in trade?
(A) 1000 (B) 2000
(C) 4000 (D) 5000

How many people are involved in

agriculture -
(A) 6000 (B) 3000
(C) 1800 (D) 3300

A and B are two partnersin a firm
sharing the profit in the ratio 5:4.
If the firm earns a profit of

% 14,400, then profit to be
received by A is -
(A) ¥ 6400 (B) ¥ 8000

(C) T 9000 (D) X 9400

Which one of the following are not
the sides of a right angle triangle -
(A) 9cm, 15cm, 12 cm

(B) 2cm, 1 cm, 5 cm

(C) 3cm,4cm, 5cm

(D) 5cm, 7 cm, 9 cm
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C

151. Which test is carried out to

152.

determine the ability of learning
of a teacher ?

(A)\ Aptitude test

(B) Attitude test

(C) Acheivement test

(D) Scholastic test

People of high intellectual ability

come into teaching only when

they-

(A) find no other occupation.

(B) want to work less.

(C) want to earn more money
through tuition.

(D) wanttolead a challenging life

like a teacher.

P.T.o.
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155.
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153.

154.

155.

Teacher to student is-

(A) in the position of the father.

(B) inthe position of the mother.

(C) in the position of friend and
well wisher.

(D) all of the above

The reason of running away of

students from school is—

(A) .lack of interesting classroom
teaching. |

(B) lack of interest in education

of the students.

()
(D)

not punishing the students.
indifference of teachers

towards the problem.

The likely behaviour of 3 despised
child in the class wil| be -

(A) furious

(B) enthusiastic

(C) negative

(D) runaway
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C

156. The main reason behind the failure

157.

158.

of a newly appointed teacher is-

(A) lack of inter-personal

relationship.
lack of communication skills.

lack of subject knowledge.
behaviour with

(B)
(9)
(D)

strict

students.

Teacher should-

(A) introduce the chapter before

teaching.
(B) be proficient in his language.
(C) be an expert of his subject.

(D) All of the above

A teacher who is not successful
in attracting his students should-
(A) improve his teaching method
by analyzing it.

(B)
(9)
(D)

resign from his post.

stgrt giving dictation.

find mistakes of his students.
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C

159. If some of your students

160.

161.

misbehave with you in the
campus, you should-

(A) inform the principal.

(B) inform their guardian.

(C) improve their behaviour
through your own character
and wisdom.

run a campaign against these

students with the help of

(D)

other teachers.

What first thing will you do if a

child faints in the class -
(A) rush to the principal's office
and ask for help.

(B) inform child's parents and
wait for them.

give him first aid and contact
nearby doctor.

make arrangements to send

the child home.

(C)

(D)

Students will take interest in the

lesson if the teacher -

(A) behaves with them in a
friendly manner.

(B) gives them knowledge that
they need.

(C) teach through video
programmes.

(D) told them it is necessary for
learning.
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C

162. What a teacher should do when

163.

164,

he doesn't know the correct

answer of the question asked by

a student?

(A) Satisfy the student by giving

an ambiguous answer.

Tell the students that they

should not ask unrelated

questions.

Tell the students that he'll

give the answer later on.

(D) Tell the students that they
should go to the library and
find the answer from the
books themselves.

(B)

(©)

Effective teaching means-

(A) love, cooperation,
attachment and motivation
given to students.

(B) punishment given to
students after moral offense.

(C) individual education and open

class discussion.

(D) (A) and (C) both

This is useful for comparative
study in teaching-

(A) Maps

(B) Diagrams

(C) Tables

(D) Graphs

PTn
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C

165. The teaching method through

166.

167.

which a child actively participates
is -

(A) Story félling method

(B) Role play method

(C) Question-answer method

(D) Conversation method

The feature of teaching through
Television is-
(A) The programme enhances
the vision of both students
& teacher.
(B) students get acquainted to

innovative ideas and visuals.

(C) 'Television programmes bring

unity in national education.
(D) All of the above.

Best teaching system is that
where-

(A) question-answers are not
needed.
(B) teachers ask questions to
students.
(C) students clear their doubts
* ‘With teachers.
(D) teachers ang Students bbth
ask questions.
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C

168. What is important for success in

169.

170.

the teaching profession?

(A) Prosperity of community

(B) Proficiency of teacher

(C) Educational qualification of
teacher

(D) Cooperation of principal

What two characteristic features
should be there in the teacher to
bring change in class work
methods -

(A) Prestige and authority

(B) Seniority and experience
(C) Eligibility and teaching degree

(D) Expertise and experience

If the statement "All students are
intelligent" is true, then which of
these following statements are
not true -

(1)
(i)

No student is intelligent.

Some students are
intelligent.

(ii) Some students are not

intelligent.

(i) and (ii)

(i) and (iii)

(i) and (iii)

Only (i)

(A)
(B)
(9)
(D)

P.T.O.
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C

171. Which of the following is correct

172.

178

about teacher - student

relationship?
(A) Quite informal and close
(B) Limited to classroom only

(C) Full of hormony and respect

(D) Indifferent

A live classroom situation could

be like-
(A) Fountains of laughter from

time to time
(B) Complete peace
(C) Continuous conversation

between student and
teacher.

(D) Loud debate among
students.

If a parent asks the teacher to
discriminate or be partial for his
ward in the examination, the
teacher should-

(A) try to help him.

(B) tell him not to say this again.

(C) stop him from doing this
politely and firmly.

(D) strictly tell him to leave,
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C

174. A student wishes to know

175.

176.

whether he will perform well in a
specific job. Which of the following
tools will be used to predict this
situation?

(A) Attitude Test

(B) Aptitude Test

(C) Intelligence Test

(D) Interest Test

A school teacher, Mr. Patel
developed a curriculum model
with the help of his students. This
model became so popular in the
coming years that the schools of
all the districts, states and country
implemented it. This is an example
of -

(A) Demonstration Model

(B) Base Model

(C) Administration Model

(D) System Analysis Model

Which of the following is not a

component of inclusive

education?
(A)

Respect for individual

difference
(B)
(C)
(D)

Zero rejection
Cooperation

Special class establishment

P-T-O-
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177.

178.

179,

C

Who takes decision in the

‘grassroot model' of curriculum
development?

(A)
(B)
(®)

Community
Students

School Inspectors of the
district

(D) Teachers

A teacher organises a discussion
with students and makes them
capable of selecting a suitable
subject in the higher secondary
level. This type of guidance is
called-

(A) Personal guidance

(B) Vocational guidance

(C) Educational guidance

(D) Psychological guidance

Teaching aid that comes under

the category of Projected

medium js-

(A) Pictures

(B) Photographs
(C) Films

(D) Blackboard
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(A) (i), (i)

(B) (i), (iii), (iv)

(C) (i), (i), Ciii), (iv)

(D) (i), (iv)
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(B) WIATE® IGe¥d
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DU22
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C

180. An example of visual teaching aid

181.

182.

is-

(A) Flannel Board

(B) Radio |
(C) Gramophone

(D) Taperecorder

Important characteristics of good
measuring techinques are-

(i)

(if)
(iif)
(iv)
(A)
(B)
(C)
(D)

Objectivity
Reliability
Validity

Usability

(i), (i)

(1), (iif), (iv)

(1), (i), (i), (iv)
(1), (iv)

The most important teaching
objectives are-

(A) Cognitive objectives

(B) Affective objectives

(C) Psychomotor objectives

(D) All of the above

P.T.O.
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183.

184.

185.

C

Which processes are carried out

by a teacher to do planning of
teaching?

(A) Job analysis

(B) Identification of teaching
objectives

Writing learning objectives
All of the above

(C)
(D)

Which of the following point is not
correct for story-telling
technique?

(A) Language, style and content
of the story should be easy,
interesting and spontaneous.
The style of telling story
should be clear and
attractive.

It is not appropriate to tell
the story by reading.

(D) Story should be long.

(B)

(C)

Which points should be considered
while asking questions?

(i) There should be equal
distribution of questions for
all the students.

(i) Questions should not be
repeated.

(i) There should be variety in the
style of asking questions,

(A) only (i) and (i)

(B) only (ii) and (iii)

(C) only (i) and (i)

(D) (i), (ii) and (iii)
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186.

187.

188.

C

Which of the following is not a

teaching technique?

(A) Question technique
(B) Story-telling technique
(©) Evéluation technique

(D) Illustration technique

The most expected immediate

outcome of teaching is -

(A) Changes in the behaviour of
students in desirable

| airection.

(B) Development of total
personality of students.

(C) Building characters of the
students.

(D) Getting selected for a
suitable job.

Which of the following is not a
characteristic of a slow learner?
(A) Limited vocabulary

(B) Short span of attention

(C) Abstract thinking

(D) Limited range of interests
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189. Field study is related to-

190.

191.

(A) Real-life situations

(B) Experimental situations
(C) Laboratory situations
(D) None of the above

Which of the following statement
is most appropriate in the context
of effective teaching-

(A) Maintaining discipline in the
class.

(B)
(C)

Teachers' honesty
Teachers making students
learn and understand.

(D) Teachers' liking for the job of

teaching.

The primary duty of a teacher is
to-
(A)

raise the

intellectual
standards of students.
(B) the

improve physical

standards of students.

(C) help in

all-round
development of students.
(D)

imbibe value system in

students.
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192.

193.

194.

C

Which of the following is more

interactive and student centric?
(A) Seminar

(B) Workshop

(C) Lecture

(D) Group discussion

A guardian never comes to see

you in school. As a teacher, you

will-

(A) ignore the child.

(B) write a letter to the guardian.
(C) go to meet the guardian
yourself, if possible.

(D) start punishing the child.

A teacher asks the questions in
the class. Its main objective is to-
(A) keep students busy.

(B) maintain discipline.

(C) attract student's attention.

(D) teach the students.

P.T.O.
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195.

196.

197.

C

If the students are not taking

interest in your teaching, then
being a teacher you will-

(A) ignore them.

(B) leave the class.

(C) ask them to pay attention.

(D) review the teaching method.

Those teachers are popular

among students who-

(A) develop intimacy with them.

(B) help them to solve their
A

problems.

(C) award good grades to them.

(D) take classes for extra tuition

fee.

The first source of socialization
for a child is-

(A) family

(B) school

(C) temple

(D) playground
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C

198. What do you think is necessary

199.

200.

(B)

(D)

for the development of morality
in the students?

(A)
(B)
(C)
(D)

Sermon

Family environment
Worship

Telling them the difference
between good and bad on

every occasion.

At primary level, it is better to

teach in mother language

because-
(A) Itdevelops self-confidence in
children.

It makes learning easy.

(C) It is helpful in intellectual
development.

It helps children to learn in

natural atmosphere.

The quality of school education

exclusively depends upon-

(A) Infrastructural facilities

(B) Financial provisions

(C) International support

(D) The quality of teacher's

education

P.T.O.



